
La fonction f La répresentation de
(
C f

)
¬ Arccos(x) : [−1; 1] −→ [0; π], Arccos(x) = cos−1(x)
On a

(Arccos(x))′ =
−1√
1 − x2

, ∀x ∈]− 1; 1[

et
(Arccos(g(x)))′ =

−g′(x)√
1 − g(x)2

­ Arcsin(x) : [−1; 1] −→
[
−π

2
;

π

2

]
, Arcsin(x) = sin−1(x)

On a

(Arcsin(x))′ =
1√

1 − x2
, ∀x ∈]− 1; 1[

et
(Arcsin(g(x)))′ =

g′(x)√
1 − g(x)2

® Arctan(x) : R −→
]
−π

2
;

π

2

[
, Arctan(x) = tan−1(x) On a

(Arctan(x))′ =
1

1 + x2 , ∀x ∈ R

et
(Arctan(g(x)))′ =

g(x)
1 + g(x)2

¯ ch(x) : R −→ R, ch(x) =
ex + e−x

2
On a

(ch(x))′ =
ex − e−x

2
= sh(x)
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° sh(x) : R −→ R, sh(x) =
ex − e−x

2
On a

(sh(x))′ =
ex + e−x

2
= ch(x)

± th(x) : R −→ R, th(x) =
sh(x)
ch(x)

² Argsh(x) : R −→ R, Argsh(x) = sh−1(x) On a

(Argsh(x))′ =
1√

1 + x2
, ∀x ∈ R

³ Argch(x) : [1;+∞[−→ [0;+∞[, Argch(x) = ch−1(x)

On a

(Argch(x))′ = − 1√
x2 − 1

, ∀x > 1

´ Argth(x) :]− 1; 1[−→ R, Argth(x) = th−1(x) On a

(Argth(x))′ =
1

1 − x2 , ∀x ∈]− 1; 1[
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